INFORMATION HANDOUT

For Contract No. 02-3E7704
At 02-Tri-299-36.9/53.5

Identified by
Project ID 0200020163

MATERIALS INFORMATION
Optional Disposal Sites

Water Source Information
Bench Manufacturer's Info

Preformed Thermoplastic Pavement Marking Material from Ennis-Flint



Contract No. 02-3E7704
02-Tri-299-36.9/53.5
Project ID 0200020163

MATERIALS INFORMATION

Optional Disposal Sites



Notice of Exemption

To: County Clerk From: Trinity County Planning Department
County of Trinity P.O. Box 2819
Trinity County Courthouse Weaverville, CA 96093

Weaverville, CA 96093
Project Title: Storage of waste asphalt generated by State Highway construction on State Highway 299
Project Location - Specific: Weaverville Industrial Park on Industrial Park Way in County materials storage yard
Project Location - City: Weaverville Project Location - County: Trinity

Description of Nature, Purpose, and Beneficiaries of Project: Allow the California Dept. of Transportation
(Caltrans) to dispose of approximately 10,000 cubic yards of reusable waste asphalt generated by State highway
construction projects along State Highway 299 between Weaverville and Junction City at an existing materials
storage area owned by Trinity County and currently used by Trinity County Department of Transportation for
storage of earthen materials. The project would benefit the County by making the materials available for future use
by the Trinity County Dept. of Transportation on subsequent County road construction and maintenance projects.

Name of Public Agency Approving Project: Trinity County Department of Transportation
Name of Agency Carrying Out Project: California Department of Transportation

Exempt Status: (check one)
L Ministerial (Sec. 21080(b)(1); 15268);
L Declared Emergency (Sec. 21080(b)(3); 15269(a));

O Emergency Project (Sec. 21080(b)(4); 15269(b)(c));
X Categorical Exemption. State type and section number: Class 1 Section 15301 “Existing Facilities”

W Statutory Exemption. State code number:

Reasons why project is exempt: The project is a minor alteration of an existing use to allow Caltrans to place
material in a County owned and operated materials storage facility. The project will not change the use or increase
the capacity or the area of the existing storage facility. The project will not have a significant adverse impact on the
environment, or contribute to a cumulatively significant adverse impact. The project will not result in damage to
scenic resources on a state scenic highway. (The site is not visible from State Highway 299.) The project will not
cause a substantial adverse change in the significance of a historical resource. The project is not located on a toxic
site listed by the California Environmental Protection Agency pursuant to Section 65962.5 of the Govt. Code.

Lead Agency Contact Person: Area Code/Telephone/Extension:
Richard Tippett T (530) 623-1365 ext.3425

Signature:__~~ Title: Planning Director Date: /é’ g7

POSTED IN THE OFFICE OF
THE TRINITY COUNTY CLERK

From: \ O - o |4 To: || 1B - |



=5 :
{1 ( ;
\ ) : =\
| ¢ o ¢ )
! /
\& & - 5 (
v 4 ;o )/
. " l

o, i) J
(‘:s l'l "; ” -
£ 4 ; 2 / I
! e . &/
N = H e @ e I | e
. : z = F
\ N 1 &= |
\ \Vea 3 ® 9 / o
[/ { N Manzanita Rd (‘;;: il 45 %
| “ 5 7/ 3N
N e = 3 _ \t=4 y =
NS — Bl E74 =
z g 3 B Manzanita Dy, @ \ S [
\ 9, Eltapome Hi\ | & Jo \ 0 Q. . s o
\p P\ (% ; (an X 'J: / a,
e o 26> o o Js = #
X . i 1o 3 é ( V4 y :V
~ e ver Bally LP \ % Memorial o LAy
€0 \_ aa DI
Fisher Price Ty Jpo—"mmy :‘
§ A " "
S 4 Tinnen St)) o5&
R = {, - QL= )
,-'\__‘/’ " ';4-'
WendyLn \Trinco Rd » &q@d L 5 .
e = — 4
e Upper Miner P NN
= Hanover S :
ik Creath St S Granwood Hill

- 0ld Orchard Rd

\ Mormaon Ln-3)
N O 0Odd Fellows g, 257
Sy Quail D =)
\ 20, Auall Ur Cemetery

> | Brooktree Way—im
\ Smiith St \BlegseEige SoTa v o 2
M eroan Allay < o
Rocky »"‘J S Hatt St i ome'sy £ 1§
) I\ Ballyvigw St sls
af & y h, Ballyv =4 ' Beryl Ln
Redbud Rd”™ (S YA_J . )
) B =" Sam Lee Dr Pioneer Ln| PioneerLn
Hatley Ln ThomasLn Nabors Ln™j= Grandview Dr
\\ ai Wintercreek Way
Baudizzon Ln
Oak Ridge Rd
," g |
/I Bellyrd Ransom Rd
5 4.5 § o The Wrong Rd
Masonic Ln- S & { ¢ Michael Rd § j ’ —
7a 4 {Birdie Ct ) i
A i \S = »
\ o
=3 -
m_‘ —=Wilson Rd
I_*"—-' Harold Way
Cox Rd
Drury Lane
N
1000 0 1000 2000 3000 Feet

source: Trinity County Planning Dept., GIS Database, 2/4/07, ge. 530 623 1351

)




Dispeo sol S
imofc.pw,\_..,//p ,/3,

/

N area. 5skhewin”

(30" wide ,OV\ L7




Contract No. 02-3E7704
02-Tri-299-36.9/53.5
Project ID 0200020163

MATERIALS INFORMATION

Water Source Information



1/13/2014 :
FOR CONTRACT NO.: 02-3¢77014
e S TROT ID Go00030163
ROUTE: 299 — TRI - PM 36.9/53.5

WATER SOURCE INFORMATION

No readily available non-potable water sources have been identified for this project,

Identified Potable water sources are:
Weaverville Community Service District
716 Main Street _
Weaverville, CA 96093 .

(530) 623-5051




Casey, Julie E@DOT

From: .. . e, Schaller, Chris D@DOT. . ... L
Sent; Tuesday, October 14, 2014 10:22 AM
To: Casey, Julie E@DOT

Subject: Water / Weaverville

Here you go.

Chris Schaller

Utitity Coordinator

North Region Right of Way - Redding
Phone (530) 225-2775, Fax (530} 225-3621

From: Wes Scribner [mailto:wes@weavervillecsd.com]
Sent: Tuesday, October 14, 2014 8:26 AM

To: Schaller, Chris D@DOT

Subject: RE:

Chris, this shouldn't be an issue. During this summer we didn’t have any problems with availability, That being said, we
are always at the mercy of mother nature and | can’t make any guarantees. Although if things get so bad that we can't
give them water, | doubt that anyone else could.

The contractor can pick up a hydrant meter at the beginning of the project and we will set them up an account. The
charge is $50 per month for the account and $2.25/ 750 gallons for the water. There is also an $850 deposit for the
meter that will get refunded after it's turned back in assuming there is not damages. Our most recent contractor drove
off while still connected to the hydrant so it does happen. The $850 seems steep to some folks but these parts are
expensive to replace.

Let me know if you have any other questions.

Thanks

WeavervilleCSD — General Manager
PO Box 1510

Weaverville, CA 96093

{530) 623-5051 ph

{530) 623-2108 fx

From: Schaller, Chris D@DOT [mailto:chris.schaller@dot.ca.gov]
Sent: Monday, October 13, 2014 11:17 AM

To: Wes Scribner

Cc: Casey, Julie E@DOT

Subject:

Wes,



“ For the Caltrans Sidewalk project near the school, 'have been asked to check with you regarding water availability, Our—
contractor will require approx. 600,000 gallons of water between April 2015 and November 2015. Will Weaverville CSD

have the ability to supply this need?
Thanks,

Chris Schaller

Utility Coordinator

North Region Right of Way - Redding
Phone (530) 225-2775, Fax (530) 225-3021




Casey, Julie E@DOT

From: ... ... ... Casey JuieE@DOT . . .
Sent Monday, October 13, 2014 11:02 AM
To: Schaller, Chris D@DOT

Subject: Potable Water Source in Weaverville
Categories: HB/West Weave

Hi Chris,

We are finalizing the contract documents for the West Weaverville CapM (02-3£770} and | am preparing the
informational Handout for Water Sources.

It is my understanding that there are no readily available non—potable water sources in Weavervilie.

Would you please verify with the CSD that there will he approximately 600,000 gallons of water available for
construction between April 2015 and November 20157

Also, | need to know the name and phone number of the CSD staff that you talk to for the RE file.
Thank you!
Julie E. Casey, P.E.

Branch Chief, Design R4
{530) 225-3093




Contract No. 02-3E7704
02-Tri-299-36.9/53.5
Project ID 0200020163

MATERIALS INFORMATION

Bench Manufacturer's Info



10/13/2014
_ FOR CONTRACT NO.: 02-3¢77014

~ PROJECTID 0200020163

ROUTE: 299 — TRI - PM 36.9/53.5

MATERIALS INFORMATION

ASSEMBLE BENCH
MANUFACTURES DETAILS AND INSTRUCTIONS

QOak Knolls Series, Cast Iron Bench with Recycled Plastic Seat
Model B90-6
Bench Length: 6 fi
Cast Iron Frame - Powder Coat Color: Black (CB)
- --Recycled Plastic Timbers — Color: Brown (PW)




£E1 -08-0dS ue|ng uopesyweds

BELL-IV  onoma

80-206  awva

SHIIWIL LVAS DILSYId QF1IADTY W& X . ANV SNV ONI NOXI LSO HLIM
HON3E LNNOW 30V4dNS Lv1d LOO4 8 ANV '9 "7 068 TZAOW S3INIS TIONM MO suu,

WAMM

A8 NMYHQ

SPEO-ZLOLS V| "#exOsey]) » ITE XD OW

AU ron "‘Blw sowoy )M

STIOH DNILNNOW 40
HIINID OL ¥3ALNID

—=] gl |

SIHONI NI SNOISNIWIC 1TV

NOISNINIG

16 V/L86 | 2/ G6 8-069

€L vLvL | 2L 9-069

6% v 0S | 2N i ¥-064

2 9 € UIFNNN
13a0W

STTOH ONLINNOW 40
HILNIO OL d3LNIO

Y

-
_

o]

3




RJThomas Mfg. Co., Inec. \& ° Destination:
PO, Box 946 Pilot Rock
Cherokee, 1A 51012 PARK » STREET » CAMP
FORM ASM-1631 / Rev. 7-12 - SITE PRODUCTS - Model #:
© 2012 R. J. Thomas Mlg. Co., Inc. Order #:
ASSEMBLY and INSTALLATION
INSTRUCTIONS for

B90 OAK KNOLL Series 4 Ft., 6 Ft., and 8 Ft. Surface

&)

Mount FLAT BENCHES with RECYCLED PLASTIC 3" x 4" Timbers

Required for Each 4 Ft. B90 Bench:
A) { 2} End Frames
B) { 1) Horizontal Support Tube: 1.66" O.D, x 47-1/2"
C) { 2) End Brackets
E) { 4) 3"x4"x 4 Ft. nom. Regular Recycled Plastic Timbers
F} ( 2} 3"x4"x 4 Ft, nom, Recycled Plastic Timbers with
Bullnose Profile
( 6) 1/2"x 2-1/2" Stainless Steel, Flat Head Socket
Cap Screws
{ 4) 1/2" Stainless Steel, Nylon Insert, Lock Nuts
{ 4 1/2"1.D. x 1-1/4" O.D. Stainless Stee!, Flat Washers
{12) 3/8"x 1-1/2" Stainless Steel Lag Screws
{ 1) 5/16" Allen Wrench

Packed for This Order of ( y I 4 Ft. B90 Bench{es):
A) ( } End Frames
B) ( } Horizontal Support Tube{s): 1.66" 0.D, x 47-1/2°
C) () End Brackefs
Ey () 3"x4" x4 Ft nom. Regular Recycled Plastic Timbers
F) { ) 3"x 4" x 4 Fi. nom, Reeyeled Plastic Timbers with
Bullnose Profile
{ ) 1/2" % 2-1/2" Stainless Steel, Flat Head Socket
Cap Screws
{ } 1/2" Stainless Steel, Nylon Insert, Lock Nuts
{ } 1/2° 1D, x 1-1/4" O.D. Stainless Steel, Flat Washers
{ } 3/8" x 1-1/2" Stainless Steel Lag Screws
{1 1} 5/16" Allen Wrench

Required for Each 6 Ft. or 8 Ft. B90 Bench:

A) { 2) End Frames
B) { 1) Horizontal Support Tube: 1.66" O.D. x
71-1/2" (6 Ft)  95-1/2" (B Ft.)
C) { 2) End Brackets
D) ( 1} Center Seat Bracket —6 Ft. and 8 Fi. Bench only
E) { 4} 3" x 4" nom. Reqular Recycled Plastic Timbers:
nem. 6 Ft.long  nom. 8 F. long
F) { 2} 3" x 4" nom. Recycled Plastic Timbers with
Bullnose Profile:
nom. 6 Ft. long  nom. 8 Ft. long
{ 6) 1/2"x 2-1/2" Stainless Steel, Flat Head Socket
Cap Screws
{ 4} 1/2" Stainless Steel, Nylon Insert, Lock Nuls
{ 4} 1/2"1.D. x 1-1/4" O.D. Stainless Stee}, Flat Washers
(18} 3/8" x 1-1/2" Stainless Steel Lag Screws

Packed for This Order of { }) OQ6FL or O8Ft.
B90 Bench{es):

A) { ) End Frames
B) { ) Horizontal Support Tubels): 1.66" O.D. x
Q 71-1/2"6F) 9 951/2" (8 FL)
C) | ) End Brackets
D) { } Center Seat Bracket(s) —6 Ft. and 8 Fi. Bench only
E) ( } 3" x 4" nom. Regular Recycled Plastic Timbers:
Brnom. 6 Ft.leng O nom. 8 Ft. long
B { } 3" x 4" nom. Recycled Plastic Timbers with
Bullnose Profife:
Onom. 6Ft. long O nom. 8 Ft. long
{ ) 1/2" x 2-1/2" Stainless Steel, Flat Head Socket
Cap Screws
{ } 1/2" Stainless Steel, Nylon Insert, Lock Nuis
{ ) 1/2"1.D. x 1-1/4" O.D. Stainless Steel, Flat Washers
{ ) 3/8"x 1-1/2" Stainless Steel Lag Screws

{ 1} 5/16" Allen Wrench

{_ 1 } 5/16" Allen Wrench

--------- ASSEMBLY INSTRUCTIONS for B90 OAK KNOLL SERIES BENCHES:
1.

Lay down sheets of cardboard {a cloth appliance wrap would be even better) on a level surface to protect the finish of the Frames. Stand
up (1) End Frame {A) and decide which side will be to the inside of the Bench, Assembly is best accornplished with 2 persons.

Bring one end of the Horizontal Support Tube {B) to the inside of the Frame (A) and match up the Mounting Hole in the end of the
"fube with the lower Mounting Hole in the End Frame at the center of the arch connecting the Frame Legs (see Fig. 1, Page 2). Insert
{1y 1/2" x 2-1/2" Stainless Steel, Flat Head Socket Cap Screw through the Mounting Hole of the Frame from the outside of the Frame
and screw into the threaded Hole In the end of the Support Tube with the included 5/16" Allen Wrench.

Do Not completely tighten the Screw but keep it slightly loose until the Seat Timbers are attached.

Stand up the 2nd End Frame {A), decide which side will be to the Inside of the Bench, and position it at the other end of the Horizontal
Support Tube {B) {see Fig. 1, Page 2}. Connect the Frame to the Support Tube as in Step 1.

Take {1} of the End Brackets (C) and match up the (2) Mounting Holes on the Mounting Area of the Bracket with the (2) uppér Mounting
Holes in the circular detalls on the inside of the Frame {A) (see Fig. 1, Page 2}, Insert {2) 1/2" x 2-1/2" Flat Head Socket Cap Screws
through the Mounting Holes of the Frame from the outside of the Frame and through the Holes in the End Bracket. Attach {2} 1/2"
LD. x 1-1/4" O.D. Stainless Steel Flat Washers and (2) 1/2" Stainless Steel, Nylon Insert, Lock Nuts on the ends of the {2} Screws on
the inside of the End Bracket, under the Seat Mounting Area and completely tighten, Use the included 5/16" Allen Wrench on the Flat
Head Socket Cap Screws and a 3/4" Ratchet Wrench on the Lock Nuts to install the fasteners.

Repeat Step 3 with the other End Bracket {C) on the inside of the other End Frame (A).
Take the Center Seat Bracket (D) ard place the half cylinder at the bottom of it on top of the Horizontal Support

FORM ASM-1631 / Rev. 7-12

Page 1 © 2012 R. J. Thomes Mig. Co., Inc.



...continued

Tube {B} at the exact middie of
its length (see Fig. 2}, s

Caution: Place the half cyl-
inder carefully eand Do Not
slide it along the Support : Ny
Tube to avoid scratching the

painted surface,

Note: The 4 Ft. Bench does not
have a Center Seat Bracket (D).

While {1} person holds the Center
Seat Bracket {D} in place, have
the 2nd person position (1) of the 142" STAINLESS STEEL, NYLON INSERT
3" x 4" Recycled Plastic Timbers  {——"" aoi NUT. TYP FOR CONNECTION

with the Bullnose Profile (F) at OF END BRACKETS (C) TO FRAMES {A)
one end of the Center Bracket
and End Brackets {C} with the

142" % 2-1/2" STAINLESS STEEL, FLAT HEAD § FT. BENCH
SOCKET CAP SCREW; TYP FOR CONNECTION SHOWN
OF HORIZONTAL SUPPORT TUBE (B) AND END

BRACKETS (C) TO FRAMES {A) S o

1127 1.0, x 1-1/4" Q.D. STAINLESS STEEL,
FLAT WASHER (4)

CARDBOARD

Pilot Holes for the Lag Screws MOUNTING AREA OF

facing down (see Fig. 2). Face THE END BRACKET {C}

the Bullnose side to the

outside of the Bench, 6FT

Match up the Pilot Holes E BENCH

in the Timber (F) with the ! I SHOWN

Holes in the End Brackels | E i LT N *ANOTE: 4 FT

(C}) and Center Seat e I| ot 1 T BENCHES DO

Bracket (D), install (3} |t NOT HAVE A

3/8" X 1’1/2" Stainless SEAT AREA i i | CENTER SEAT

Su::eel, thA;g HSCIrev{S tﬁp OF THEEND | | ™ ! BRACKET (D)

rough the Holes in the | BRACKET {c); i | .

Brackets and start the Lag | TvP / . L F [ 7 .@ F

Screws in the Pilot Holes (7 = /AT SEAT AREA

(see Fig. 2). Use a2 9/16" L — OF THE

Ratchet Wrench to install e | ':-,-" g ) A **CENTER SEAT

the Screws. — / —~ 1\ | ® Zh  BRACKET (D)

DO NOT completely it ’ ' Y. h

tighten fosteners until o [ 1 20 fil 0

the entire Bench has /\ b I 17/32" DIA

been assembled and *49" NOM O.C. FOR 4 FT. . [-., ) i % ANGHOR

squared up. *73" NOM O.C. FOR 6 FT. < i -==5 RN
6. Install the other 3" x 4" *97" NOM O.C. FOR 8 FT. 11/ 4 é)‘ FRAME (A)

Recycled Plastic - Timber : :

with the Bullnose Profile 3/8" x 1-1/2" STAINLESS STEEL, 3.7/8" O.C.

.................................................... (F) at-the. other-ends.-of HEX HEAD [AG SCREW,; TYP

the Brackets (C & D)
with the Bullncse edge positioned to the outside on that side of the Bench (see Fig. 2). Fasten in place as in Step 5.

7. Square up the End Frames {A) o each other. Position the {4} Regular Recycled Plastic Timbers (E) to fill in the rest of the Seating Area
{see Fig. 2). Match up the Pilot Holes in the Timbers with the Mounting Holes in the Seat Area of the Brackets (C & D) and fasten in
place with 3/8" x 1-1/2" Stainless Steel, Lag Screws. Finish tightening all fasteners.

DO NOT over tighten Lag Bolts on Recycled Plastic connections ...thls may cause the Bolt to strip out of the Plastic.

ANCHORING of B90 BENCHES:

Note: Concrele Anchors are not included. Our Optional Model ANC4-4 Anchor Set which includes {4) 1/2" dia. x 3-3/4" Concrete
Wedge Anchors is available for anchoring the Bench. Instructions for their installation are included with the Anchor Set. [ using concrete
anchors from another source, use anchors of a similar size and use the Instructions included by the manufacturer to install the anchors.

1. Refer to Fig. 2 for the location of the 17/32" Dia. Anchor Holes in the Frame Feet of the End Frames (A). (4} Anchors are required:
{2) per Frame.

2. Place the Bench in position on the concrete and mark the center locations of the Anchor Holes. Fig. 2 shows the nominal dimensions
between Anchor Holes, but it is still best to place the Bench first and mark the actual locations of the Anchor Holes.

3. Move the Bench to the side and drill anchor holes in the concrete using the instructions included with the Concrete Anchors.

4. Move the Bench back into position and install the Concrete Anchors.

FORM ASM-1631 / Rev. 7-12 ‘ Page 2 © 2012 R. J. Thomas Mig. Co., Inc.



Contract No. 02-3E7704
02-Tri-299-36.9/53.5
Project ID 0200020163

MATERIALS INFORMATION

Preformed Thermoplastic Pavement Marking Material from Ennis-Flint



TrafficPatterns®

A TiofficScopes Soluion by Ennis-Flint

TrafficPatterns® provides a cost-effective, traditional look and alternative to the use of brick and stone pavers be-
cause the material is surface applied and virtually maintenance free. The pattern and color combinations of the
interconnected sheets allow designers the flexibility to create the ideal crosswalk or traffic calming pattern that

complements the overall streetscape design.

PERFORMANCE-BASED FEATURES AND BENEFITS
+ Engineered as heavy-duty intersection grade pavement marking material with enhanced durability

« 125-mil; interconnected sheets of material

« Does not alter substrate
+ Does not require stamping templates or grids
« Open to traffic minutes after application

- ADA compliant - Pedestrian and wheelchair friendly surface

« Eliminates the maintenance and safety concerns of loose pavers

« Al preformed thermoplastic materials are made at Ennis-Flint’s manufacturing facility which is ISO 9001:2008
certified for design, development and manufacturing of preformed thermoplastic. Quality, value and long-term
performance are built into the marking. Anti-skid elements are added at time of manufacturing for optimized

application at the jobsite.

TrafficPatterns® does not require expensive capital equipment, customized tools, templates or grids for application. The
2'x 2'sheets of interconnected material are easily lifted and positioned ontoan asphalt or concrete surface. Border seg-
ments can be added for design variability. Application is simple with a large infrared heater or a propane heat torch.

STANDARD PATTERNS (2'x2’ Sheets)
-_-_-:- i\;\: impm NSH= =|I-.=

T T "'\‘ aimpgs SIS

S NP imna Dsis L
R‘...;NOTLII;G HERRINGBOINE FLAIN WEAVE BASKET WEAVE ASHLAR
1] DO
EEE BRI o o S
EEE (BEEEE RO 2% 8880

S[A&RE(IE)EHLE STACKED TILE NGETIIE DIA(]S_ILOENAL HONEYCOMB

PESD SN pNsaul “;.""

1858 s e

1828: e} 120 %

COURTYARD  QUARTER TERRAZZO
ROUND

STANDARD BORDERS

TP41 P42

Interconnected, Surface-Applied Preformed Thermoplastic
Crosswalks and Traffic Calming Surfaces for Asphalt and Concrete

High skid/slip resistant for safety. As material wears, new anti-skid elements are exposed.
+ Can be applied on newly-stamped asphalt as soon as the road surface cools and sets

STANDARD COLORS

1

BLACK WHITE SAND TAN

T8
Ry

HERITAGE FELD SONOMA  TNNAMON
RED GRAY SAND

SANTA FE  CHESTNUT
Ly

GREY DARK KHAK] SENNA COCOA  SAIMON
BRICK RED

PREMIUM COLORS

DUC-TONE TRI-TOME
COMBIMATION  (TERRAZZO OMLY)

%



TrafficScapes-

Surface Systems for Enhanced Safety

CROSSWALKS « MEDIANS « ISLANDS - ROUNDABOUTS « ENTRYWAYS « LOGOS

TrafficScapes™ is a portfolio of preformed thermoplastic pavement marking materials engineered for
durability, safety, and aesthetics for the streetscape and traffic calming market designed to:

+ Improve traffic safety especially at intersections and multi-use paths

+  Enhance visibility for pedestrians, motorists, and cyclists

+  Provide design elements that complement a Complete Streets community
+  Channel pedestrians across busy commercial parking areas

«  Promote and/or revitalize community image

+  Attract new business development in livable communities

+  Create low-cost median ar island effect without the use of raised curbs

Each product offers its own unique application and performance approach to streetscape projects where
shared roadway safety and aesthetic appeal need to work in conjunction.

B ®_ A
I)urul'l;gﬂrﬂmﬁ B-(ﬁcl’uitb;e'm{a D ﬂzgﬂ?cl'uqym@ TiafficPatternsi Detoﬂﬁg!lﬁg
INLAID IMPRESSED - INTERCONNECTED OVERLAY SURFACE SIGNS

When used on public roadways and private properties open to public travel, decorative crosswalks require proper demarcation
with white linear boundaries according to the Manual on Uniform Traffic Control Devices (MUTCD).

‘.é Ennis-Flint ® 115 Todd Ct. Thomasville, NC ¢ 336.475.6600 ,.E 0
ENNIS-FLINT trafficscapes@flinttrading.com © www.ennisflint.com

ATraffic Safety Solutions Company E .

MKT-00015



	Industrial park storage site NOE.doc.pdf
	20141021171234346
	Trinity DOT stockpile


